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Important Instructions
wEvarqut e

Attempt all questions. Each question carries %> mark. Questions have been set in English. Hindi
translation is being given for the convenience of students. Candidates have to write correct answer
(A) or (B) or (C) or (D) in the space provided against the questions on OMR Answer-Sheet.
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1.

4.

When was the Forest Conservation Act
made ?

(A) 1980

(B) 1985

(C) 1990

(D) 1982

Which tree is considered an environmental
crisis ?

(A) Cactus

(B) Acacia

(C) Khejri

(D) Eucalyptus

Which is the most ozone depleting gas ?
(A) Carbon dioxide

(B) Nitrogen

(C) Chlorofluorocarbon

(D) All of these

What is considered as the protecting shield
of the environment ?

(A) Ozone

(B) Oxygen

(C) Nitrogen

(D) Methane
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T W& st e o ?
(A) 1980
(B) 1985
(C) 1990

(D) 1982

e &7 I TATeRON e HHT ATl € 2
(A) e

(B) ==

(C) vt (Trstit)

(D) phferes

qaifees S &FHi T i § 2
(A) e SRS

(B) TEZIoH

(C) FARTFARIBTSA

(D) = 9t

TATEROT T & e fRS HAT S § 2
(A) TSI

(B) SRS

(C) TEgrsm

(D) Hed
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S.

6.

7.

8.

Where is the Indian Forest Institute ?
(A) Madhya Pradesh

(B) Bhopal

(C) Odisha

(D) Uttarakhand

Where is the Forest Productivity Center ?
(A) Ranchi
(B) Bhopal
(C) Indore

(D) Kerala

A non-renewable source of energy is :
(A) Hydropower
(B) Wind energy
(C) Solar energy

(D) Coal

Development activities on the hydrosphere

cause :
(A) Air pollution
(B) Soil pollution
(C) Water pollution

(D) Soil erosion
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TR o G el § ?
(A) A& T

(B) et

(C) effesm

(D) IETe

T IR D5 Fal © 2
(A) T
(B) st
(€) =R
(D) e

S T STAATIRIT S T & 2
(A) STerTfh

(B) =g i

(C) IR it

(D) hrere

Sieved ¥ fasfaa fransi & wRor g
T

(A) 9T HgH

(B) &1 9@

(C) et Fgsm

(D) 9T 3T9sH
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9. Environment is the life support system that 9, ATATERYT STa &7k FOel | o1 SuRIa ¥ ?

includes : (A) T
(A) Air

(B) st&
(B) Water
(C) Land (©)
(D) All of these (D) & |t

10. Atmosphere consists of 79% nitrogen and 10. STAERY H 79% AEISH AR 21% e

21% oxygen by : AT
(A) Volume (A) SR B
(B) Weight (B) &5 g1
(C) Density (C) = 5N
(D) All of these (D) & |t
11. The word ‘Environment’ is derived from : 11. ‘wETERor’ ITes Y S fRad gE § 2
(A) Greek (A) Tw 9
(B) French (B) ®aH
(C) Spanish (C) Sfmr g
(D) English EEEIE
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12. World Environment Day is celebrated on : 12. fava wafaRe feae wm@n S @

(A) 5th May (A) 578 Wl

(B) 5th June (B) 5 =l

(C) 18th July (C) 18 a8 ol

(D) 16th August (D) 16 37T @l

13. “World Forest Day’ is celebrated on : 13. ‘fava o= feaa’ 9o S §

(A) 21st March (A) 21 9= =1

(B) 5th June (B) 5[ ®I

(C) 1st December (C) 1 feu=R =1

(D) 7th July (D) 7 o8

14. When was the Vulture Conservation Project 14. g Teeqor gfEem T e | e &1 T ?

started ? (A) 2007
(A) 2007

(B) 2008
(B) 2008
(©) 2006 (C) 2006
(D) 2010 (D) 2010
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15. The year declared as the “Water Year’ by 15. 9Rd WHR g ST 98 ' & ®9 H DA a6

the Indian government is : CUEGRERIW
(A) 2010 (A) 2010
(B) 2005 (B) 2005
(C) 2006 (C) 2006
(D) 2007 (D) 2007

16. Which of the following is necessary for 16. fFAfafea & 4 gemw-wvaso & fag

photosynthesis ? STAYTF ¥
(A) Sulphur (A) HoHI
(B) Phosphorus (B) HITRRH
(C) Chlorophyll (C) FARITRa
(D) Chloroform (D) FARTRH

17. Which of the following is not considered as 17. f=1 & | S TEE TWE $ w9 H 9@

a temperature scale ? TSI § 2
(A) Fahrenheit (A) ®RTEEE
(B) Caloric (B) et
(C) Celsius (C) wfcaa=
(D) Kelvin (D) e
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18. In which year the ‘Project Tiger’ is launched
in India ?
(A) 1973
(B) 1983
(C) 1993

(D) 1972

19. Which of the following is the negative health

effects of noise pollution ?
(A) Hypertension

(B) Hearing loss

(C) Stress and headache

(D) All of these

20. Which of the following is non-luminous ?
(A) Sun
(B) Star
(C) Moon
(D) All of these
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18. R H ‘WioER AR’ (S qfESE) wE
Y& HI TR ?
(A) 1973
(B) 1983
(C) 1993

(D) 1972

19. 7 # 9§ ®FE = Yo F THEREE
A YU § 2
(A) =9 THAM
(B) S
(C) o iR faeed

(D) = |+t

20. =1 § 9 S R-THHIR T ?
(A) TS
(B) @R
(C) =g
(D) = |t
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21. Animals whose primary sources of food are 21. SR S s @1 wrefies i T ™
based on plants are known as : STefa €, 378 ST S §
(A) Carnivores (A) wrgef
(B) Herbivores (B) qoredt
(C) Omnivores (C) Have®
(D) None of these (D) T8 9 g el
22. CNG stands for : 22. CNG &I 7qe ¢
(A) Common Natural Gas (A) Common Natural Gas
(B) Compressed National Gas (B) Compressed National Gas
(C) Compressed Natural Gas (C) Compressed Natural Gas
(D) Certified National Gas (D) Certified National Gas
23. Which of the following is the coldest planet 23. =1 # § FFE GREvSA T GO VST TS
of the solar system ? %72
(A) Venus (A) Ik
(B) Neptune (B) A=A
(C) Jupiter (C) Jeeafd
(D) Mercury (D) 4
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24.

25.

26.

Which of the following is used in the

thermometer to measure the body

temperature ?
(A) Oxygen
(B) Silicon

(C) Mercury

(D) None of these

The Ozone layer is present in :

(A) Mesosphere

(B) Thermosphere

(C) Stratosphere

(D) None of these

Which of the following has a maximum
speed ?

(A) Light

(B) Air

(C) Sound

(D) Water current

SED-156
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24, IR & AYEE S A9 & a0 oqER |

25.

26.

e 9 fopmeht S fohan ST § 2
(A) ST

B) fafeeria

(C) R

(D) T ¥ ®iE &

A TR HiNE ®
(A) TosTeRER |
(B) ¥HEhRR |
(C) TATHR F

(D) T ¥ ®iE &

4 ¥ frgent fq eAfieraa & ?



27.

28.

29.

Which of the following is an extinct species ?

(A) Tiger

(B) Blackbuck

(C) Dodo

(D) Ostrich

‘Amrita Devi Puruskar’ is given in the field
of:

(A) Literature

(B) Forestry

(C) Science

(D) Peace

The yellowness of the Taj Mahal is an after-
effect of :

(A) Acid rain

(B) Allergens

(C) Ozone depletion

(D) None of these
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27.

28.

29.

o [ o

frefefed § 9 HF JoIfd o< & gt

T2

(A) =

(B) @hrem fetur
(C) Sret

(D) T

* ST St R R & H R S ¥ ?
(A) wrfec
(B) afert
(C) fomm

(D) wmf=d

ATSTHEe Sl HelTde fhdeht g9 § 2
(A) ST aot 1

(B) Tersit 1

(C) 3T Rfweeo =1

(D) 374 9 HIE &
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30.

31.

32.

33.

The uses of CFCs are :
(A) Insulators

(B) Aerosol propellants
(C) Refrigerants

(D) All of these

Which of the following is an important

greenhouse gas ?

(A) Chlorofluorocarbon
(B) Carbon dioxide
(C) Carbon monoxide

(D) Freon

Photosynthesis is found in :
(A) Producers

(B) Decomposers

(C) Consumers

(D) Scavengers

Sugar is a form of :
(A) Carbohydrate
(B) Fat

(C) Protein

(D) Water

SED-156
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30.

31.

32.

33.

CFCs & STIM ¢ :
(A) fowares

(B) THIA JUlIch
(C) Hwed

(D) = 9t

/1 § § ®FE T Ty MRy 1§
€7

YRTET-TEETST TT S R ;
(A) IARE |

(B) EI&H¥ISR |

(C) F=prH

(D) oSk H

N FTHFEIE
(A) FHEESE
(B) ™2

(C) 9

(D) Tt
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34.

3S.

36.

37.

The Chipko Movement was originated in

which district of Uttarakhand ?
(A) Hridwar

(B) Dehradun

(C) Champawat

(D) Chamoli

Which of the following is not an air
pollutant ?

(A) Smoke

(B) Carbon dioxide

(C) Nitrogen gas

(D) Sulphur dioxide

Plants which grow in light are called :
(A) Sciophytes

(B) Heliophytes

(C) Oxylophytes

(D) Epiphytes

What is Hibernation ?
(A) Winter sleep

(B) Summer sleep
(C) Autumn sleep

(D) All of these

SED-156
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34.

3S.

36.

TRt STIe i JESTd STEvE & fohg
e 8 g8 off ?

(A) BRER

(B) “E

(C) ==

(D) =t

o oo

[REINIECH

H 9 D G GO T § 2
(A) gt

(B) HEH TEARIEE

(C) IS

(D) HTH SE3TFES

FeRTeT | ST el 9iY el © ¢
(A) feareEz

(B) wferrered

(C) fFaehEH

(D) THwREH

37. TESATH T ?

(A) T FT g
(B) Tt =i Hig
(C) wws i g
(D) = 9t
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38. Which part of plant evaporates water ?

39.

40. World Water Day is celebrated on :

41.

(A) Stomata
(B) Fruit
(C) Branch

(D) Root

.................. 1s an elixir of life.

(A) Air
(B) Water
(C) Food

(D) All of these

(A) March 12
(B) March 22
(C) March 25

(D) March 30

Carrier of Dengue disease is :

(A) Culex Mosquito
(B) Housefly
(C) Aedes Mosquito

(D) Anopheles Mosquito
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(14)

38. W8 T BT o= anfead It § 2

39.

40. fave e feas e T ST § 2

(A) T
(B) we
(C) v

(D) ~i8

................ Sire 1 ST |
(A) @

(B) Tt

(C) s

(D) 3 |eft

(A) 129 =1
(B) 22 9 &t
(C) 259 &t
(D) 30 HTd =

41. AT H ARF T

(A) TR Fo
(B) =¥e werelt
(C) TEIS 7=
(D) TAhedST Host
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42.

43.

44.

45.

Which of the following is a renewable
source of energy ?

(A) Coal

(B) Uranium

(C) Wind

(D) None of these

Tobacco addiction is caused due to :
(A) Nicotine
(B) Caffeine
(C) Cocaine

(D) Histamine

A species restricted to a given area is :
(A) Endemic species

(B) Sibling species

(C) Allopatric species

(D) Sympatric species

How many muscles are there in a human
body ?

(A) 900

(B) 600

(C) 700

(D) 800

SED-156
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42.

43.

44.

45.

et § § RIET o1l Bl TR S § 2
(A) i

(B) ™

(C) @&

(D) T ¥ ®E &

TR 1 ofd fehdeh HROT Bt § 2

(A) TTRERH & ®RO
(B) H®M & HRI
(C) I & &R0
(D) fewifia & wro

ferelt o TTu &t e wHifiva womf ©
(A) Tenfes gemfaat

(B) R gl

(C) uerfeeh sferat

(D) Teeifeen gt

AT YRR H fohat waafemet g € ?
(A) 900
(B) 600
(C) 700
(D) 800
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46. First biosphere reserve in India is : 46. 9RA H gom Samved iod ¥
(A) Nilgiri (A) rafiR
(B) Chinnar B) fa=r
(C) Agasthyamalai (C) STTIHETS
(D) Eravikulam (D) sqferpe™
47. We have days and nights because of : 47. TR U e SR Tq fFg oo 9 ¥ 2
(A) Earth’s rotation (A) gt =1 E@"—l
(B) Earth’s revolution (B) geat &1 IReRAm
(C) Sun’s rotation (C) ¥d 1 =oiA
(D) Sun’s revolution (D) gd w1 9iehHu
48. LED stands for : 48. LED &1 a1cTd ¥ :
(A) Light Emitting Device (A) Light Emitting Device
(B) Light Emitting Diode (B) Light Emitting Diode
(C) Light Event Detector (C) Light Event Detector
(D) Light Encryption Device (D) Light Encryption Device

SED-156 (16) BI-213



49. Organ is affected by Pneumonia is : 49. i & gfea & &
(A) Liver (A) FPd
(B) Kidney (B) T
(C) Stomach (C) U=
(D) Lungs (D) ®%E

50. Paper is mainly made up of : 50. TS G&A &9 H fohad s T § 2
(A) Cellulose and starch (A) TS IR == |
(B) Sunflower and maize (B) IsHEd 3R TR 9
(C) Polythene and cotton (C) wifereis IR a3
(D) Bamboo and grass (D) =g IR =9 9

51. When did Bhopal tragedy take place ? 51. 9T AR % g8 ot ?
(A) 1964 (A) 1964
(B) 1974 (B) 1974
(C) 1984 (C) 1984
(D) 1994 (D) 1994
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52.

53.

54.

SS.

BOD stands for :
(A) Biological Oxygen Decrease
(B) Biotic Oxygen Demand

(C) Biological Oxygen Demand

(D) None of these

A product of photosynthesis is :
(A) Carbon dioxide

(B) Water

(C) Oxygen

(D) Chlorophyll

Disaster management includes :
(A) Mitigation

(B) Reconstruction

(C) Rehabilitation

(D) All of these

Most stable ecosystem 1is :
(A) Forest
(B) Desert
(C) Ocean

(D) Mountain

SED-156
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52.

53.

54.

SS.

BOD o1 e ¢
(A) Biological Oxygen Decrease
(B) Biotic Oxygen Demand

(C) Biological Oxygen Demand
(D) T8 ¥ g &

TRTT-FYAT0] I T 39S &
(A) T SESHIFIES

(B) T

(C) At

(D) FARITHA

M9 Feier | 71 IMHeA © 2
(A) ¥

(B) fFH

(C) eI

(D) 3 |eft

Taifersk Tl wids &
(A) =
B) =™
(C) HeErR
(D) e
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56. The true end of any food chain is the :

(A) Decomposer
(B) Predator
(C) Consumer

(D) Human

57. The First Green Revolution was in :
(A) 1956
(B) 1965
(C) 1960

(D) 1970

58. Energy flow in an ecosystem is :
(A) Bidirectional
(B) Indirectional
(C) Multidirectional

(D) Allrounds

59. Formation of ozone is :
(A) Oxidation reaction
(B) Reduction reaction
(C) Photochemical reaction

(D) None of these

SED-156
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56.

forelt off T et 1w S T
(A) TTH
(B) TRt
(C) 3YrHT

(D) T8M

57. Ugel BRd i<t el i TS ot ?

(A) 1956 &
(B) 1965 #
(C) 1960 #

(D) 1970 #

58. T wffEafaent a5 | ol yaE HE R ?

59.

(A) fgfea

(B) femeE

(C) HeEEERMA
(D) @i 3R

@N'ﬁqsﬂﬁ'qu%

(A) siferdeRTor gfdfshan
(B) 9= safufsran

(C) wRerEmEfE Afafma
(D) =T | #1g T
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60. SARS means :

61.

62.

63.

(A) Severe Air Raised Syndrome
(B) Severe Acute Respiratory Syndrome
(C) Severe Acute Respiratory Symptoms

(D) Severe Air Related Syndrome

Biogas contains mainly :
(A) Methane

(B) Propane

(C) Butane

(D) Carbon dioxide

Detritus food chain starts from :
(A) Green plants

(B) Grass

(C) Dead organic matter

(D) Phytoplankton

Which of the following is a fossil fuel ?
(A) oil

(B) Coal

(C) Natural gas

(D) All of these
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60.

61.

62.

63.

SARS ST dcqd ®

(A) Severe Air Raised Syndrome
(B) Severe Acute Respiratory Syndrome
(C) Severe Acute Respiratory Symptoms

(D) Severe Air Related Syndrome

SN § qET w9 H 5491 81 § 2
(A) Hred
(B) 9o
(©) =17

(D) FHEH TEAFIES

feefen uma e FET A E A T ?
(A) R

(B) ¥&

(C) Ta wrafTeh uared

(D) TIRY waH

frfafea 3§ & S Stared $59 § 2
(A) T
(B) =
(C) wrpfereh T
(D) = T+t
BI-213



64.

6S.

66.

Word ‘Oikos’ means :

(A) House and study of

(B) Study and houses

(C) Only houses

(D) Study of people

Energy from the heat inside the earth is :

(A) Natural gas

(B) Terrathermal

(C) Petroleum

(D) Geothermal

Pedology is :

(A) Study of water

(B) Study of oil

(C) Study of air

(D) None of these

SED-156

64.

6S.

66.

3155 ‘Oikos’ HT 3T T :
(A) House and study of
(B) Study and houses
(C) Only houses

(D) Study of people

eat & 3T i THI § i et 3e1 o

®?

(A) IFfaw =
(B) =
(C) Tiferm

(D) y-ardt

TErArs §

(A) S T ST
(B) 3T T 3TEA
(C) a1g =1 A7

(D) 374 9 HIE &
BI-213
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67. Red Data Book contains data of :
(A) All plant species
(B) Threatened species
(C) Economically important species

(D) All animal species

68. Who coined the term acid rain ?
(A) Christ Ralph
(B) Robert Angus Smith
(C) Ernest Flower

(D) Elmer Joseph Clark

69. Zone consisting air, water and soil is known
as :
(A) Hydrosphere
(B) Biosphere
(C) Atmosphere
(D) Lithosphere

70. Hotspots are regions of high :
(A) Rareism
(B) Endemism
(C) Diversity
(D) Critically endangered population

SED-156
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67.

68.

69.

70.

el S ok T fendent ST B ¥ ?
(A) |t bt st et

(B) Heheu& yfaat

(C) N &9 & Heequ gemfaar
(D) |t SRt &t gemfaat

3T It 9Teg Tohe g ?
(A) R TTH

(B) e W femy

(C) 3= FlaR

(D) TTR SIEF Freh

A1, S A1 JeT o Shicee i hed §

(A) STeHTEA
(B) SamvEa
(C) argHvSa

(D) TUGHIEH

(D) TR &9 ¥ GheU& G
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71. Blue whale is placed under :
(A) Extinct
(B) Exotic
(C) Endangered

(D) Rare

72. Earthworms and bacteria are called :

(A) Producers
(B) Consumers
(C) Decomposers

(D) None of these

73. A river with high BOD value means :

(A) Highly clean
(B) Highly polluted
(C) Highly productive

(D) None of these

74. Ozone Day is observed on :
(A) 10th November
(B) 16th September
(C) 3rd January

(D) 26th March
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71. = & I fhed W T g ?
(A) g
(B) ferewft
(C) faqq@ M =1 HM T
(D) et

72. YR AT SR 1 FHEA T ?
(A) SeTEH
(B) SqYRRT
(C) eI

(D) T ¥ ®iE &

73. 3= BOD | @it 5t o1 3790 © :
(A) Tafys W
(B) sttt wgfd
(C) sTfeh IcaReh
(D) =T | #1g T

74. A fEo Fel BN S@E 2
(A) 10 Fa=R Tl
(B) 16 faa=Rr =1
(C) 3 Sl &l
(D) 26 HTE =
BI-213
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7S.

76.

77.

78.

SEM is caused by :

(A) Lack of water

(B) Desert

(C) Too much irrigation

(D) Industries

Lions are found in :
(A) Gir Forest

(B) Sundarban
(C) Buxa Forest

(D) Western Ghat

What is the full form of WTO ?
(A) World Trade Observation
(B) World Technical Organisation
(C) World Trade Organisation

(D) None of these

In which year the Kyoto Protocol Treaty

came into force ?
(A) 2007
(B) 2006
(C) 2005
(D) 2015

SED-156
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75.

76.

77.

78.

9 (SEM) T FROI T
(A) T =

(B) HEEIH

(C) gq ifereh fe=g
(D) &

IR el T S © 2
(A) fr=7 4
(B) gwa #
(C) s ad |

(D) afe=mt =e §

WTO &1 90l &9 51 § ?

(A) World Trade Observation
(B) Wold Technical Organisation
(C) World Trade Organisation
(D) ¥ & FIE T&

F) ST G fre 9 & A T 2
(A) 2007
(B) 2006
(C) 2005

(D) 2015
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79. Who among the following is commonly 79. TTH ¥ HF AHRIG: IRA B IE T B T

called ‘Bird Man’ of India ? T S S ?

(A) Madhav Gadgil (A) wed Mefite

(B) M.C. Mchta (B) TH.E. T

(C) SalimAli (C) wefm st

(D) Medha Patkar (D) T 9t

80. Who published Red list ? 80. et =i fohe Yehiferd vt ?

(A) WWF (A) WWF

(B) TUCN (B) TUCN

(C) MAB (C) MAB

(D) IBWL (D) IBWL

o [ o

81. Which of the following is a parasitic plant ? 81. fr=fafed & & S T weiet dren § 2

(A) Pecpal (A) dive
(B) Cuscuta (B) SUEA
(C) Money plant (C) =t =me
(D) Grapes (D) ¥R

SED-156 (25) BI-213 P.T.O.



82. Silent Valley is located in :
(A) Karnataka
(B) Kerala
(C) Tamil Nadu

(D) Meghalaya

83. COD stands for :
(A) Chemical Oxygen Demand
(B) Carbon and Oxygen Demand
(C) Climate of Deserts

(D) None of these

84. When is Tobacco Free Day celebrated ?

(A) 5thJune
(B) 18th March
(C) 31st May

(D) 30th May

85. Which is the most polluted city in the world ?

(A) Kano, Nigeria
(B) Kolkata

(C) Delhi

(D) Lima, Peru
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82.

83.

84.

8S.

Trecie el e feom ¥ 2
(A) Al

(B) &

(C) afFerTrg

(D) FemeTa

COD 1 a4 & :

(A) Chemical Oxygen Demand
(B) Carbon and Oxygen Demand
(C) Climate of Deserts

(D) T ¥ ®iE &

TSI TRt feard shal HAR S © 2
(A) 5SF =l
(B) 18 #Td =
(C) 31 % I
(D) 30 WS =

fava 1 god Yo TR R § ?
(A) I, SR
(B) hicTahTal
(C) feeedt
(D) &=, I
BI-213



86. Where is Indira Gandhi Forestry Academy 86. Sfex Tifelt anfient eTeRTeHT el R & 2

located ? (A) STEHSEE
(A) Ahmedabad B) 2
(B) Dehradun

(C) EcmereTg
(C) Allahabad

(D) 3=R

(D) Indore

87. Which disease is caused by deficiency of 87. foerfm-C =t &t | e AT 3= Bl

vitamin C ? g2

(A) Beri-Beri (A) I/

(B) Rickets (B) fhed (¥ )
(C) Nightblindness (C) et

(D) Scurvy (D) whdl

88. Which animal has been taken as a symbol 88. fava g=sita wIW g Wdish & &9 § fore

by the World Wildlife Fund ? Y] I fern T E 2
(A) Panda (A) qrer

(B) Deer (B) fexw

(C) Cow (C) ™

(D) Wild buffalo (D) Shrett &9
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89.

90.

91.

Which one of the following is a Medicinal
plant ?

(A) Sugarcane

(B) Rice

(C) Wheat

(D) Aloevera

Lead in water can cause :

(A) Arthritis

(B) Eye disease

(C) Hairfall

(D) Kidney damage

Which is the world’s most famous
insecticide ?

(A) B.H.C.

(B) D.D.T.

(C) Flit

(D) Baygon

SED-156

(28)

89, fr=fafed # 4 e fwefig qeq ® ?
(A) I
(B) =maet ()

(C)

(D) TaRUrE

90. W1 # TG & HROT 1 & Hhell & ?
(A) Gfg T
(B) 3it@ &1 I
(C) = firen

(D) fwet afa

91. fava 1 Haitees TiEg HIARE HAATE ?

(A) st.T=HE.
(B) SL.E.3.
(C) frre
(D) s

BI-213



92.

93.

94.

What class does the dog belong to ?

(A) Primary consumer

(B) Producer

(C) Secondary consumer

(D) Tertiary consumer

In a food chain of grassland ecosystem, the

tOp consumers arc :

(A) Herbivorous

(B) Carnivorous

(C) Bacteria

(D) Carnivorous or Herbivorous

Earth Summit was held in :

(A) Stockholm in 1972

(B) Rio de Janeiro in 1992

(C) Paris in 1992

(D) New York in 1972
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92.

93.

94.

o fre ot | e ® 2
(A) e ST

(B) 3G

(C) fadtormn Iqrar

(D) TR STHERT

=9 yf Tiffaent i @ g § e
ST HF T ?

(A) TTHERI

(B) wHiETert

(C) St

(D) WIEERT 1 IMehTert

YT T g A

(A) 1972, =i%em H

(B) 1992, f& fe Safan &
(C) 1992, At #

(D) 1972, =gateh #
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95. The term biodiversity is coined by :

(A) W.G. Rosen

(B) Ronald Coarse

(C) Rachel Carson

(D) None of these

96. The controversial dam across the river

Narmada :

(A) Hirakud

(B) Sardar Sarovar
(C) Harike

(D) Bhakra Nangal

97. An example of e-Waste is :

(A) Paper

(B) Plastic

(C) Mobile phone

(D) Industrial effluent
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95, Safafaud e fRed g Te T T ?
(A) == ST THT 5T
(B) IATeE ®IE g/
(C) T=et e gr

(D) T ¥ ®iE &

96. W e W foanfeg oy ® :

FIRE TS

D

(A)
(B) HER T
(C) ==

(D) TS AT

97. $-HTR A TH STV T :
(A) HET
(B) wifE®
(C) =t XS
(D) =Nt sfe @
BI-213



98. Algal blooms results in :

(A) Global warming

(B) Salinization

(C) Eutrophication

(D) Biomagnification

99. What is Dendrology ?

(A) Study of plants

(B) Study of trees

(C) Study of earth

(D) None of these

100. Deforestation generally decreases :

(A) Rainfall

(B) Soil erosion

(C) Drought

(D) Global warming
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98. JreTeT TR i TROTH B ©

(A) gATSHAE A9
(B) AR
(C) g

(D) SE-3TaEa

99, o FNT ?
(A) dE T ST
(B) USi 1 AL
(C) geat o1 s1eaad

(D) 374 9 FIE &

100. 541 1 TS THFITE Tl © ;@

(A) aui d

(B) o<1 e H
(C) qen#

(D) TAEE ST B
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